
20
PIEZAS Código

55200H

CONTENIDO
CÓDIGO PIEZAS DESCRIPCIÓN

5519HM 1 Dado 3/4" 6 puntas 19mm
5522HM 1 Dado 3/4" 6 puntas 22mm
5524HM 1 Dado 3/4" 6 puntas 24mm
5525HM 1 Dado 3/4" 6 puntas 25mm
5527HM 1 Dado 3/4" 6 puntas 27mm
5528HM 1 Dado 3/4" 6 puntas 28mm
5530HM 1 Dado 3/4" 6 puntas 30mm
5532HM 1 Dado 3/4" 6 puntas 32mm
5533HM 1 Dado 3/4" 6 puntas 33mm
5534HM 1 Dado 3/4" 6 puntas 34mm

CONTENIDO
CÓDIGO PIEZAS DESCRIPCIÓN

5536HM 1 Dado 3/4" 6 puntas 36mm
5538HM 1 Dado 3/4" 6 puntas 38mm
5541HM 1 Dado 3/4" 6 puntas 41mm
5546HM 1 Dado 3/4" 6 puntas 46mm
5550HM 1 Dado 3/4" 6 puntas 50mm

5649 1 Matraca 3/4" reversible
5661 1 Extensión de 3/4x8"
5663 1 Extensión de 3/4x16"
5668 1 Mango art 3/4x20-3/16
5696 1 Caja metal 60 x 23.5 x 9cm


